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Question Type 1: Reading Comprehension

Question 3 is based on this passage.

Despite the fact that the health-inspection procedures for catering establishments are
more stringent than those for ordinary restaurants, more of the cases of food poisoning
reported to the city health department were brought on by banquets served by catering
services than were brought on by restaurant meals.

3. Which of the following, if true, helps explain the apparent paradox in the
statement above?

(@ A significantly larger number of people eat in restaurants than attend
catered banquets in any given time period.

Catering establishments know how many people they expect to serve, and
therefore are less likely than restaurants to have, and serve, leftover food, a
major source of food poisoning.

(© Many restaurants provide catering services for banquets in addition to
serving individual meals.

(D The number of reported food-poisoning cases at catered banquets is
unrelated to whether the meal is served on the caterer’s or the client’s
premises.

(®) People are unlikely to make a connection between a meal they have eaten
and a subsequent illness unless the illness strikes a group who are in
communication with one another.

Questions 4 and 5 are based on this passage.

African American newspapers in the 1930s faced many hardships. For instance,
knowing that buyers of African American papers also bought general-circulation
papers, advertisers of consumer products often ignored African American publications.
Advertisers’ discrimination did free the African American press from advertiser
domination. Editors could print politically charged material more readily than could
the large national dailies, which depended on advertisers’ ideological approval to secure
revenues. Unfortunately, it also made the selling price of Black papers much higher
than that of general-circulation dailies. Often as much as two-thirds of publication
costs had to come from subscribers or subsidies from community politicians and other
interest groups. And despite their editorial freedom, African American publishers often
felt compelled to print a disproportionate amount of sensationalism, sports, and society
news to boost circulation.

For the following question, consider each of the choices separately and select
all that apply.

4. The passage suggests that if advertisers had more frequently purchased advertising
in African American newspapers, then which of the following might have
resulted?

African American newspapers would have given more attention to sports
and society news than they did.

African American newspapers would have been available at lower prices
than large national dailies were.

African American newspapers would have experienced constraints on their
content similar to those experienced by large national dailies.
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Questions 7 to 9 are based on this passage.

In a plausible but speculative scenario, oceanographer Douglas Martinson suggests
that temperature increases caused by global warming would not significantly affect the
stability of the Antarctic environment, where sea ice forms on the periphery of the
continent in the autumn and winter and mostly disappears in the summer. True, less
sea ice would form in the winter because global warming would cause temperatures to
rise. However, Martinson argues, the effect of a warmer atmosphere may be offset as
follows. The formation of sea ice causes the concentration of salt in surface waters to
increase; less sea ice would mean a smaller increase in the concentration of salt. Less
salty surface waters would be less dense and therefore less likely to sink and stir up deep
water. The deep water, with all its stored heat, would rise to the surface at a slower rate.
Thus, although the winter sea-ice cover might decrease, the surface waters would
remain cold enough so that the decrease would not be excessive.

7. It can be inferred from the passage that which of the following is true of the
surface waters in the current Antarctic environment? -

(@A They are more affected by annual fluctuations in atmospherlc temperatures
than they would be if they were less salty.

(B They are less salty than they would be if global warming were to occur.

(© They are more likely to sink and stir up deep waters than they would be if
atmospheric temperatures were to increase.

(D They are able to offset some of the effects of global warming beyond the
Antarctic region.

(® They are less affected by the temperature of deep water than they would be
if atmospheric temperatures were to increase.

8. The passage suggests that Martinson believes which of the following about deep

waters in the Antarctic region?

(@ They rise to the surface more quickly than they would if global warming
were to occur.

They store heat that will exacerbate the effects of increases in atmospheric
temperatures.

(© They would be likely to be significantly warmed by an increase in
atmospheric temperatures.

(D They would be more salty than they currently are if global warming were to occur.

(® They are less likely to be stirred up when surface waters are intensely salty
than when surface waters are relatively unsalty.

9. According to the passage, which of the following is true about the sea ice that
surrounds the Antarctic continent?
(@ The amount of sea ice that forms in the winter has been declining.
Most of the sea ice that forms in the winter remains intact in the summer.

(© Even small changes in the amount of sea ice dramatically affect the
temperature of the surface waters.

(D Changes in the amount of sea ice due to global warming would
significantly affect the stability of the Antarctic environment.

(® Changes in the amount of sea ice affect the degree of saltiness of the
surface waters.
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